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1. BEBE O
(1) #& & IR &
1. SMARE 0 0 0
2. M2 & 73,300,000 73,075,000 225,000
3. BEIK 10,010,000 9,900,000 110,000
4. #H IR =& 57,314 2,557 54,757
e 83,367,314 82,977,557 389,757
QBREER
1. % ¥ % 60,433,372 56,741,009 3,692,363
2. % | & 19,621,379 19,299,099 322,280
BEER 80,054,751 76,040,108 4,014,643
LEREEBRSE 3,312,563 6,937,449 A 3,624,886
2. BHESMFE DI
(1) #8 & 5 I 2% 0 0 0
QR=ENEHR 0 0 0
LERREIMEREE 0 0 0
154724 2 — AR TE BRBA EE AR 3,312,563 6,937,449 A 3,624,886
EAB-ERBRUBER 70,000 70,000 0
L B — % 1E R A EE 14 R AR 3,242,563 6,867,449 A 3,624,886
—RIERIHESRERS 165,068,231 158,200,782 6,867,449
— R ERRMERRES 168,310,794 165,068,231 3,242,563
IEREERIRES 168,310,794 165,068,231 3,242,563




